



姓名: _____

日期: _____ 分數: _____

$$(4 - \frac{2}{3})^2 - \frac{1}{2} - 5^2 \times \frac{3}{5} =$$

$$(\frac{2}{5} + (\frac{1}{5})^2) \times \frac{3}{4} - (\frac{2}{3} - \frac{1}{2})^2 =$$

$$(3 + \frac{3}{4})^2 - \frac{3}{5} \times \frac{3}{2} \times 3^2 =$$

$$(\frac{2}{3} + (\frac{1}{2})^2) \times \frac{2}{3} - (\frac{1}{4} - \frac{1}{2})^2 =$$

$$(\frac{2}{3} - \frac{1}{6})^2 + \frac{1}{6}(\frac{2}{3} + \frac{3}{2}) =$$

$$(\frac{2}{3} + \frac{1}{2})^2 - \frac{2}{3}(\frac{1}{6} + (\frac{1}{3})^2) =$$

$$(3 - \frac{1}{2})^2 - \frac{1}{2} - \frac{3}{5} \times 3^2 =$$

$$(\frac{1}{3} + \frac{3}{5})^2 + \frac{1}{2}(\frac{2}{5} + (\frac{1}{2})^2) =$$

$$(\frac{3}{5} - \frac{1}{2})^2 + \frac{2}{5}(\frac{2}{5} + \frac{3}{4}) =$$

$$((\frac{1}{5})^2 - \frac{2}{5}) \times \frac{1}{3} + (\frac{1}{3} + \frac{1}{4})^2 =$$



姓名: _____

日期: _____ 分數: _____

$$(4 - \frac{2}{3})^2 - \frac{1}{2} - 5^2 \times \frac{3}{5} = (-\frac{79}{18}) = (-4\frac{7}{18})$$

$$(\frac{2}{5} + (\frac{1}{5})^2) \times \frac{3}{4} - (\frac{2}{3} - \frac{1}{2})^2 = \frac{68}{225}$$

$$(3 + \frac{3}{4})^2 - \frac{3}{5} \times \frac{3}{2} \times 3^2 = \frac{477}{80} = 5\frac{77}{80}$$

$$(\frac{2}{3} + (\frac{1}{2})^2) \times \frac{2}{3} - (\frac{1}{4} - \frac{1}{2})^2 = \frac{79}{144}$$

$$(\frac{2}{3} - \frac{1}{6})^2 + \frac{1}{6}(\frac{2}{3} + \frac{3}{2}) = \frac{11}{18}$$

$$(\frac{2}{3} + \frac{1}{2})^2 - \frac{2}{3}(\frac{1}{6} + (\frac{1}{3})^2) = \frac{127}{108} = 1\frac{19}{108}$$

$$(3 - \frac{1}{2})^2 - \frac{1}{2} - \frac{3}{5} \times 3^2 = \frac{7}{20}$$

$$(\frac{1}{3} + \frac{3}{5})^2 + \frac{1}{2}(\frac{2}{5} + (\frac{1}{2})^2) = \frac{2153}{1800} = 1\frac{353}{1800}$$

$$(\frac{3}{5} - \frac{1}{2})^2 + \frac{2}{5}(\frac{2}{5} + \frac{3}{4}) = \frac{47}{100}$$

$$((\frac{1}{5})^2 - \frac{2}{5}) \times \frac{1}{3} + (\frac{1}{3} + \frac{1}{4})^2 = \frac{793}{3600}$$